SENAETHEA HERKTA K
2019411 A 29 H
H ETTER
J— hERERFRBARLE L, IZREREERK,. IR0 AR 2 #ic, [3] E
FHRICERE R ELL 2 L, BB BT E W ESIIMEAT 3,

[1] kD a— RiZ, BRED COF LT a 34 F O while XOMEERLSTh 5,
&3,  “while” #(* Expression “)~ Statément

(D7) AB1T%E, TREOA~DNOBEMOTH LE#EAE 1 22 BA T2 7 L% %R S

Hk, (&34 BKA20H -

"void while st (){
int blab, clab;
if(tok != SLPAREN) error(" '{' Expected");
tok = scan(); /* get next token */
(1) H
(2) ;
(3) ;
gen_code{" TST.W RO); /* Expect RO holds the result */
(4) i
gen_code(" BEQ L%d",blab); /* Zero means falge */
if(tok != SRPAREN) error(" ')' Expected");
tok = scan();
(3) i
(6) ;
(7) ;
} .

(A) st(blab,clab) /* Statement */

{B) exp() /* Expression */

(C) blab = get_inlabel() /* Call label generator */
(D) clab = get_inlabel() /* Call label generator */
{(E} gen_code(" BNE L%d", clab)} /* branch not equal */
(F) gen_code(" BNE L%4", blab)

(G} gen _code(" BRA L%d", clab) /* branch always */
(H) gen_code(" BRA L%d", blab)

{I) gen_code("L%d:", blab)

(J) gen code("L%d:", clab)
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1 a=>0

2 c =70

3 LD: b=20

4 Ll: a =1

5 b = b+a

6 if b<=10 goto L1
7 c = Cc+b

8 c = c+b

8 if ¢<=100 goto LO
10 exit
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void while st(){
int blab, clab;
if(tok != SLPAREN) error(" '(' Expected");
tok = scan{); /* get next token */

(y 3 B
(2) i (J)
(3) i (B)
gen_code(" TST.W R0); /* Expect RO holds the result */
4y (<)

gen_code(" BEQ L%d",blab); /* Zero means false */
if(tok != SRPAREN) error(" ')' Expected");
tok = scan();

5y i (A)
(6) 0 (G)
(7) Po(1)

(a) st(blab,clab) /* Statement */

(B) exp() /* Expression */

(C) blab = get_inlabel() /* Call label generator */
(D) clab = get_inlabel() /* Call label generator */
(E) gen_code(" BNE L%d", clab) /* branch not equal */
(F) gen_code(" BNE L%d", blab)

(G) gen_code(" BRA 1L%d", clab) /* branch always */
(H) gen_code(" BRA L%d", blab)

(I) gen_code("L%d:", blab)

(J) gen_code("L%d:", clab)

LlzTEe Siiilha 7



[2] kD 3 FEHho— FIZBLTEX L, RERAK2 —3R—VIcZ& 2282 E)

(% 10 &) Loaddaer @ @P Beck .nia.(_ /Qovp .
3‘1[ a=0 * I \33-»93:L33}
2 c =20
Br 3L0L0: b=0 = ¢ ?} =By
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5 b = b+a
B3 6 L if b<=10 goto L1 C}@ l
7 ¢ = c+b *£ J
B¢ 8 [; = b D ¢
9 if c<=100 goto 1O I l
B 10 [ exit € @
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